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NAME	DATE	PERIOD

[bookmark: unit-1-lesson-3-which-one]Unit 1 Lesson 3: Which One?
[bookmark: Xa99e90bf3e15f229fff4308008bb7597d09ca31]1 Math Talk: What Was the Final Temperature? (Warm up)
[bookmark: student-task-statement]Student Task Statement
Mentally evaluate the final temperature in each scenario.
The temperature was 20 degrees Celsius and it dropped 18 degrees.
The temperature was 20 degrees Celsius and it dropped 20 degrees.
The temperature was 20 degrees Celsius and it dropped 25 degrees.
The temperature was 20 degrees Celsius and it dropped 33 degrees.
[bookmark: best-representation]2 Best Representation
[bookmark: student-task-statement-1]Student Task Statement
Use the class data to create a dot plot, box plot, and three histograms, each with different bin sizes.
1. Create a dot plot.
· ​​
· [image: /app/tmp/embedder-1646700823.020201.png]
1. Create a box plot.
· [image: /app/tmp/embedder-1646700823.0727093.png]
1. Create a histogram using intervals of length 20.
· [image: /app/tmp/embedder-1646700823.174678.png]
1. Create a histogram using intervals of length 10.
· [image: /app/tmp/embedder-1646700823.3616621.png]
1. Create a histogram using intervals of length 5.
· [image: /app/tmp/embedder-1646700823.578283.png]
1. Which of these representations would you use to summarize your class’ data: the dot plot, the box plot, or one of the histograms? Explain your reasoning.
[bookmark: which-one]3 Which One?
[bookmark: student-task-statement-2]Student Task Statement
There are several baskets on a table, and each basket contains a certain number of strawberries. Here are three data displays showing the number of strawberries in each basket.
[image: /app/tmp/embedder-1646700823.828035.png]
[image: /app/tmp/embedder-1646700823.9499407.png]
[image: /app/tmp/embedder-1646700824.071184.png]
1. Kiran makes these claims. For each claim, decide whether you agree or disagree. Explain your reasoning using at least one of the data displays.
6. There are 4 baskets that contain 11 strawberries.
6. The range of the number of strawberries in baskets can be found using any of the three data displays.
6. The number of baskets of strawberries can only be found using the dot plot.
6. The interquartile range can be found using the dot plot or box plot, but is easiest with the box plot.
6. The total number of strawberries in all the baskets can only be determined from the dot plot.
1. Complete the table to show the frequency of baskets containing strawberries in each range. Which representation did you use?
number of strawberries 
 frequency 
0–6
 
6–12
 
12–18
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